INTERMEDIATE EXAMINATION-2025
geHSye URIg—2025
(Annual / 91¥® )
ACCOUNTANCY ( ELECTIVE)

AT (¥Ra+ )
I.Com.
fava  :220
Bl MR - 100+30+8=138 Subject Code: 220
Total Questions: 100+30+8=138
(FFg : 3 ©< 15 fiHe ) ( gurie 1100 )
[Time : 3 Hours 15 Minutes] [Full Marks:100]

Instructions for the candidates:

1. g¥zrefl OMR S 9% GV 3G+ Ho7 GRadT HHIE (10 3E P1) 3T97
fered |
Candidates must enter his/her Question Booklet Serial No. (10 Digits) in the
OMR Answer Sheet.

2. gierreff g sg Il ¥ & g7V |/

Candidates are required to give answers in their own words as far as
practicable.

3. gIle SV EIRMF UY [7F §V & qUIE [AdT Hd &/
Figures in the right hand margin indicate full marks.

4. FoTl B grTgds g P [y goEnRIl @15 5T @7 Saiad aqg [ear
T &/
15 minutes of extra time have been allotted for the candidates to read the

questions carefully.

5. I8 g9 yleasr & @vel H [HIfoid & — @ve—3] IV @ue—§/
This Question booklet is divided into two sections-Section-A and Section-B.

6. TGS—3 7 100 TvGITS F97 & [o77H & HIT 50 HII BT & TV & 9qr%
g/ T 50 7o & Sifes @1 TV &F GV FUT 50 T @ & FodIHT §IT/
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TRIF F97 @ o717 1 3% e & §7H7T Wal SV &l YT BT 73 FTY
TFE d 133 T & [dFeT B Aot S Biet it UT & TS BV [V gEIY

P FIFTHY /T UGT /&S, TG 371a BT HIIT BYAT 777 &, Sl GOET
gRuITT 3ET=T 81T/

In section A there are 100 objective type questions out of which only 50
questions are to be answered. If more than 50 questions are answered, then

only first 50 questions will be evaluated. Each question carries one mark. For
answering these darken the circle with blue/black ball pen against the correct
option on the OMR Answer Sheet provided to you. Do not use
whitener/liquid/blade nail etc. on OMR Answer sheet /otherwise the result will
be treated invalid.

. @ H 30 TG FINY FIT &/ forTH W gAF 7 2 3% [T & forrH i
1t 15 ger @7 GOV & JIAGR ) 39D AT I @US H 8

TIIT 97 [T 77 & forg5 & [ds] 4 o7 &7 GOV 7 &/ FYB H97 P
forv 5 31 TR 8/

In section B, there are 30 sheet answer type questions, each carrying 2 marks,
out of which any 15 questions are to be answered. Apart from this, there are 8
long answer type questions, each carrying 5 marks, out of which any 4
questions are to be answered.

. [V GBIY B FATgliE IUBYT BT FIIT QUGAT arid &/

Use of any electronic appliances is strictly prohibited.
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¥us — 3/ SECTION-A
IS 7 / Objective Type Questions

go7 G&gr 1 @ 100 % & T & @ TR [dboy &9 79 & for7d & v @
g/ 18 50 gl & S U+ FRT g7 TV @& [dwey & OMR ¥fic gv
fareTad &/ 50x1 =750

Questions nos. 1 to 100 have four options, out of which only one is correct.
Answer any 50 questions. You have to mark your selected option on the OMR-

Sheet. 50x1 =250

1. &g W 3 T 3P 8l

(A) EIRl (B) SUBEE!
(®) BE (D) Ll
Excess of income over expenses is
(A) Loss (B) Surplus
(©) Cash (D) Capital

2. fFrfafed % & &9 Wit va erae @rd a1 faeryar 27
(A) IUTSIA JATER (B) The AR
(©) Sfie IR (D) BHIST IR

Which of the following is a feature of Receipt and Payment A/C?

(A) Accrual basis (B) Cash basis

(©) Debit basis (D) Credit basis
3. RJT BT W qAIT B ©

(A)  smmH e (B) i wfi

©  sm (D) ==

A Legacy received by an organisation is a:

(A) Revenue receipt (B) Capital receipt
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(©) Income (D) Expense
.91 & 3 H W @ 99 8¢ AFE B Jd ®I fUes # fhw w5y H e

ST § ?
(A) M (B) Tg
(©) KIS (D) TR

The price of balance of sports equipments at the end of the year is shown in

the balance sheet as

(A) Income (B) Expense
© Asset (D) Liability
. Fr=aforRaa # 9 fhdeT s—aaa @ H 781 fa@rn S 82
(A) = (B) ey Sewa & fog a™
(€ (D) =

Which of the following is not shown in the Income and Expenditure A/C

(A) Depreciation (B) Donation for specific purpose
(©) Salaries (D) Subscription
. W99 & g T I Bl SRR TG
(A) M H (B) <R |
©) Hufr # (D) g ¥

The donation received for building will be shown as:

(A) Income (B) Liability
©) Assets (D) Expense
. 3[Tolae Fewgdl RJeh BT T SITUAT:
(A) o i # aRe (B)  fofnra wifts @ ke
(©) ERECINGEES (D) SR & TRE

Life Membership fee will be shown as:
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(A) Revenue Receipt (B) Capital Receipt

(©) Loan (D) Liability
8. /1 5 ¥ &M Ush 3R IR—ATBNI AT & 17 g% FuRT &
(A) GCE| (B) Uce
(®) ERIEK (D) &g
Which of the following is an intangible asset for an Not- for profit
organisation?
(A) Building (B) Patents
(©) Furniture (D) Cash
9. fafearT W U 3y @
(A) SIp) (B) LS|
©) ER (D) STH | DIg T8l
Income received from an investment is a/an:
(A) Income (B) Asset
(©) Expense (D) None of these
10. 95T Iy B ST 1T &
(A) AT DIy (B) A DY
(©) AHRAD DIy (D)  =u &N

The capital fund is also known as:

(A) Reserve Fund (B) General Fund

(©) Contingency Fund (D) Loan Fund
11,97 9 & SR U1 SR o &

(A) s (B)  wufa

(©) HI) (D) SWRIH T4

Subscriptions received in advance during the current year is:
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(A) Income (B) Asset

(©) Liability (D) All of the above
12.fF=fRad § & DI TA™MSRI e Aal &7

(A) fdermera (B) YT

(@) FeTd (D) AIEERT BH

Which of the following is not a not-for profit organisation?

(A) School (B) Hospital

(©) Club (D) Partnership Firm
13. 9™ 5 HH @ foly mfid SRy TR &Rl @

(A) HUTRE @ (B) AM—BI @rdr

(®) M~ JTaT (D) JIRTA Gl

Not for profit organisation prepare:

(A) Trading A/C (B) Profit and Loss A/C
(©) Income and Expenditure A/C (D) Revenue A/C
14.9T31eR §RT BH 1 QU MU =0T R &F1S fHefdr &:
(A) 6% (B) 4%
(©) 8% (D) 10%
Partner who have advanced loan to the firm receive interest:
(A) 6% (B) 4%
© 8% (D) 10%
15.37e] @1 ©
(A) EIGRRIECIN (B) SIS IEEIRCIR
(O) A @1l (D) T4 9 PIg T8I

Current Account is:

(A) Personal A/C (B) Real A/C
(©) Nominal A/C (D) None of these
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16.9T3GR & Yol @I & URMIS AY BT Hise fBar Siram 2 |
(A) Ul W) &re (B) JMERV] TR TS
(& SIEN) (D) RINKRERSS]I

The opening balance of Partner’s Capital A/C is credited with :

(A) Interest on Capital (B) Interest on Drawings
(©) Drawings (D) Share in Loss

17.998IER & 38R R &1 & forv Sfde fhar o &
(A) ARl & Yol @ (B) AM— BT @ I
(®) JATEROT AT Pl (D) STH | DIg T8l

The interest on partner drawing is debited to:

(A) Partner’s Capital A/C (B) Profit and Loss A/C

(©) Drawing A/C (D) None of these
18.Fr=forRaa § & 9 gRad==iiet Joil | Il SIrdm &7

(A) Ik (B) iG]

(@ IREaRsll (D) SWRIad T

Which of the following is added to the fluctuating capital?

(A) Profit (B) Loss
(©) Drawings (D) All of the above
19.m—8TH PRI @rar 99/ ™m ST &
(A) ST HY M & forg (B) gg o™ Fdprem & forg
(C) v o fMare & forg (D) 37 | PIg A8

Profit and Loss Appropriation A/C is prepared to:

(A) Create Reserve Fund (B) Find out Net Profit
(©) Find out Divisible Profit (D) None of these
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20.9T=IERI & gRT ®H &I U 7T 1 R &9 @
(A) [ClRRISE] (B) o
(@ TR (D) iG]

Interest on advance given to the firm by partner is:

(A) An Appropriation (B) A Gain
(©) A Charge (D) None of these
21 9|I8IGR T AT WIAT 9911 ST & oid AIeiaR &I Yol @l Sl ©
(A) gRad=elid MR W (B) QTS MR TR
(C) (A) e (B) @i (D) T4 | BIg T
Partner’s Current Account is prepared when capital of partner is maintained
under:
(A) Fluctuating Basis (B) Fixed Basis
(©) Both (A) and (B) (D) None of these

22 fR1q &9 aul & A 8 % 42,000, T 39,000 TAT % 45,000 | T ATHl B &
I8 & HI W BT BT Hed BT |
(A) % 42,000 (B) 384,000
(@) 31,26,000 (D) % 36,000

The profit of last three years are X 42,000, X 39,000 and X 45,000 value of

goodwill at two years purchases of the average profit will be:

(A) 3 42,000 (B) 84,000
(C) 2 1,26,000 (D) % 36,000
23 31T BT TOET B ST 8 o

(A) WTEER BH § Jd9 Gl © (B) WTEIGR SAHT TEVT BT ©

(C) WIERER &1 9g & ol 2 (D) 379 | 9

Goodwill is valuated when:

(A) New Partner enters in the firm (B) Partner retires
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(©) Partner dies (D) All of these

241 gaarg H fafEfea i *1,50,000; @ 250,000 iR ™= T
& a 20% | JeheRor Ry ¥ @y @ Al gl
(A) 22,00,000 (B) X1,50,000
©) 23,00,000 (D) X1,00,000
Capital employed in a business is X 1,50,000; profit X 50,000 and the normal

rate of profit is 20%. The amount of goodwill as per capitalisation method

will be:

(A) % 2,00,000 (B) % 1,50,000

©) % 3,00,000 (D) % 1,00,000
25. =1 @1 IART Bl ©

(A) EIERID R (B) IATE |

(©) @ | (D) T A DIS T8

Goodwill emerges out of :

(A) Business (B) Product

(©) Owner (D) None of these
26. AR BT 3 a9 30,000, Y a9 2, AT AT BRI

(A) %15,000 (B) %80,000

(C) 260,000 (D) ST A Pl ol

Average profit of business is X 30,000, purchase year 2, goodwill will be:

(A) 215,000 (B) 280,000
(©) 260,000 (D) None of these
27.918Ie R |HSId H gRad ¥
(A)  VERERI & A 96 98d 9 3
(B)  WRe &7 oid & o R

(® AR ¥ &7 fJged 8 orar
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Revaluation Account is a:

(A)
(©

Personal A/C (B) Real A/C

(D) = B T
Change in the partnership agreement
(A) Change the Relationship among the partners
(B) Result in the end of Partnership
(©) Dissolves the Partnership
(D) None of these
28— 3rgTe:
(A) AT 3rgard — YR Srgard
(B) YRTAT 3TUTT — T JFUTd
© AT 3TATd — AT 3(UTd
(D) YRTAT 3ATd — =T 37T
Gaining Ratio:
(A) New Ratio — Old Ratio
(B) Old Ratio — Sacrificing Ratio
(©) New Ratio — Sacrificing Ratio
(D) Old Ratio — New Ratio
29. Y HeIHT Tl &
(A) IRBITA Gl (B) qreIdd @l
(®) AFTATE ETAT (D) STH |9 PIg T8I

Nominal A/C (D) None of these

(A)

(C) R AEIER &1 Yol @rd |

30. 931N & gAY WR YR e # Sl MY Hed gRAiNG BNl

Y AR T S @ F (B) T ARRRT B 4 @ A

(D) SWRRH a4
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At the time of admission of a partner, General Reserve appearing in the old

balance sheet is transferred to:

(A) All Partner’s Capital A/C (B) New Partner’s Capital A/C
(©) Old Partner’s Capital A/C (D) All of the above
319 cdId IR o™ AT 811 T 989 d_d o
(A) ENRASIEEIN (B) Y WTEIER
(®) Tl AR (D) Bdel al ATSER
Profit or loss on revaluation is bear by:
(A) Old Partner (B) New Partner
(©) All Partners (D) Only two Partners

32.A 3R B WEIER © |Cﬁ§ﬂmﬁwﬁaﬁﬁmmélcwﬁﬂmzﬁ

o 21,20,000 U5ft & w0 # A1 B BH & I I ©

(A) X1,00,000 (B) %4,00,000

©) X1,20,000 (D) 26,00,000

A and B are partners. C is admitted with % shares. C brings X1,20,000 as his
share towards capitals. The total net worth of the firm is:

(A) X1,00,000 (B) 34,00,000

©) X1,20,000 (D) 26,00,000

33.f¥ AU AEER 9w W yREUREl | 85 glg @ e W § Sfde fha
SITQTT?

(A) q - Tl (B) HafkT @rar
(@ QR TSGRl BT ETl (D) Y AIEIGR &1 Gl

On the Admission of a new partner, increase in the value of asset is debited
to which account?

(A) Revaluation Account (B) Asset Account
(©) Old Partners Capital Account (D) New Partner Account
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Gl
(A) R BH BT faeed R

34.A, B3R C U BH H IEIER € IfT D 97 IEIER & B § T Al &,

(B) RET B JAT GRIT ASIERI BT fqere s

(C) ORI TSGR GifSd g
(D) T | DIS T8I

A, B and C are partners in a firm. If D is admitted as a new partner, then

(A) Old firm is dissolved

(B) Old firm and old partnership are dissolved

(©) Old partnership is reconstituted
(D) None of these

35,97 dTell AISTER BT ol 3R BT ATSTHRYT I

(A)  FE@E (B)
(©) RIER BT © (D)

Profit and loss sharing ratio of receiving partner:

(A) Increases (B)
(©) Remains Equal (D)
36.913GR & Yoil @Id Bl wise fhar Srar ©
(A) Il W e | (B)
(©) 3T & (D)

The Partner’s Capital Account is credited with:

(A) Interest on capital (B)
(©) Drawings (D)

37. QN AU Hebrer SIram 8

(A) ATSIER Bl g TR

(B) UHh AR & 3THE TS B TR

gedl &
(A) 3R (C) s

Decreases

Both (A) and (B)

JMEROT R T A
g # e 9

Interest on drawings

Share in Loss
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(@ TP AEER & Ta3 )
(D) T | PIS T8I

Sacrificing ratio is ascertained at the time of :

(A) Death of a partner (B) Retirement of a partner
(©) Admission of a partner (D) None of these
383018 HuRral & Hod # HH HEal ©
(A) Ty (B) EHE
€ @ (D) T A BE T

Decrease in the value of fixed asset is known as:

(A) Expense (B) Depreciation
(©) Profit (D) None of these

39.Ud TSGR Pl qBIeT U0 heel & a7y, 9l ARt & forg fhy 17 %4
DT GG<h Sitae 4491 GifeRll @ [a%g B4 Pl M1 BUH F UTe Bidl &
(A) Oifersl IR 3T (B) U el
(©) afert SRy (D)  Swf el

At the time of retirement of a partner, firm gets from the insurance company
against Joint Life Policy taken jointly for all the partners:

(A) Policy Amount+ Bonus Amount (B) Surrender Value

(C) Policy Amount (D) All of the above

40,91 IHI TEUT HRA ATl ABIQR DI AP T HRA TR IADI ¢ A
BT Yol YT eI AT SIar & a1 WY BKAARG har S &
(A) FOT @Td H (B) PEIRCIGHE
(@ 9% & H (D) SERRCINIE]

If retiring partner 1s not paid in full amount due to his retirement then
balance is transferred to:
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(A) Loan A/C (B) Capital A/C

(©) Bank A/C (D) Suspense A/C
41. %9 gRT UT< g 497 Giferdt &1 iy 9 I &
(A) RS Yol argura | (B) 3ifcd gSi erurd H

(©) QR SAH— AT Surd | (D) T ArI—fqIST 3rgura |

Joint Life Policy amount received by a firm is distributed in:
(A) Opening Capital Ratio (B) Closing Capital Ratio
(©) Old Profit sharing Ratio (D) New Profit sharing Ration

42 fHdT AEER &1 §g R AURET & YAHedIh & o™ Bl [hdd Yol
ST H S B S &7
(A) qdd AEER ® (B) T AEERI &
(®) @] ARIERI & (D) qT3T &1 ATSERI &

On the death of a partner the profit on revaluation is transferred to capital

A/C of:

(A) Deceased partner (B) All partners
(©) Remaining partners (D) Only two partners
43,90 HEER & HEd Bl FEER o 9g 3 [ 9 < IR R 2aref
feam e
(A) 5% arfie (B) 6% darfie®
(©) 7% arfi® (D) 8% arf¥®

The executor of deceased partner will be paid interest on the amount due

from the date of death of the partner at:

(A) 5% p.a (B) 6% p.a
(©) 7% p.a (D) 8% p.a

44 9f¢ THO & T ARl & dag | B3 A9 g 7 @ T8 8 oar
(A) GUGIEES ST (B) quT AT BT
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©) SINEAC ORISR (D) = 9 BIS T8

If at the time of dissolution nothing is said about assets, then

(A) Never paid (B) Fully paid

(@) Partly paid (D) None of these
45371 g &1 A9 BH & FHIUA & FHI e ST @

(A) el @ | (B) RS @K #

(@ goil @rd H (D) qeHedih AT H

Cash balance in a balance sheet is shown on dissolution of a firm in:

(A) Realisation A/C (B) Cash A/C

(©) Capital A/C (D) Revaluation A/C
46.%4 ® THIOT WR B ATl Y Pl P ©

(A) Tgelt = (B) Tt =

(C) 3mTd &y (D) YoirTa =g

Expenses on dissolution of firm is called:

(A) Realisation Expense (B) Legal Expense

(©) Revenue Expense (D) Capital Expenditure
4755 B e & wH AEER] B G @ B Bee A &1 g

T 2

(A) KIECRUC! (B) HH Pl

©  wha (D) T A B A

Payment of credit balance of Partner’s Capital Account at the time of

dissolution of a firm is made to :

(A) Partners (B) Firm
(©) Wife (D) None of these
48 TSIGRI BT faarferr 81 {6 UdR &1 AT &7
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(A) Jfard AT (B) AT FHIA
(©) RITT §RT FHTI (D) STH 9§ PIg T8I

Insolvency of a partner is which type of dissolution?

(A) Compulsory dissolution (B) Dissolution by incidence
(©) Dissolution by court (D) None of these
49. a9l & T BN Bl ARIGR] H dIeT STl &
(A) RTER urd 4 (B) ol 3rgurd |
(@ AT—BI 3rguTd 4 (D) 34 W PIs Aol

The profit and loss of realisation account is shared by partners in:

(A) Equal profit ratio (B) In capital ratio

(©) Proft and loss ratio (D) None of these
50.9ch @Al ©

(A) CHEREGIRCIR (B) ATHHE T

(C) CIESICCARCIIS] (D) SEIGREIR]

Realisation Account is a:

(A) Personal A/C (B) Nominal A/C
(©) Real A/C (D) Suspense A/C
51. %Y BT IEERTT &
(A) NESIEES| (B) AR US 99
(C) TTeT Hied (D) faeell fawafdered

Example of a company is:

(A) Rahul Brothers (B) Bharat & Sons

(©) Tata Motors (D) Delhi University
52,375 & PR 1 G P RaRoT ST R S 27

(A) PIEERE] (B) BILEECRIBRE
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(C) CIL IR IR R (D) ERLIRSIRSE
Which statement is issued before the issue of shares?

(A) Prospectus (B) Article of Association
(@) Memorandum of Association (D) All of these

53. @R 3fer 7 & o
(A) BUAT & BT B I WAl & geol FEIHd far ST &
(B) AT D IAH SRS BT g fhar Siar &
(®) BUAT & Faddl B IAD! HdT b I8l RIAT fhar Sar @
(D) AUt @Ned & forg fasaneii &1 frifag e smar &

Right shares are those shares which are :

(A) issued to the director of the company

(B) issued to the existing shareholders of the company
(©) issued to promoters in consideration of their services
(D) issued to the vendors for purchasing assets

54.Ud s HY-I 317 e T FiET T8 Y Fhdl B
(A) Pkl ) (B) SIS
(©) TS W (D)  sifd qou W

A new company cannot issue its shares at :

(A) Discount (B) Premium

(©) Par (D) Face value
55.3f2l & BT & UYRUMH WS U< SRl ©

(A)  gFar ol (B)  aferpd Yol

©) ARIEASEIN] (D) SRIE it

Forfeiture of shares result in the reduction of :
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(A) Paid-Up Capital (B) Authorised Capital
(©) Fixed Asset (D) Reserve Capital

56.318< Ira-T R JAfOrpdd a1l fora o1 FohdT &
(A) 6% ufaay (B) 10% wfcras
(C) 5% wfcay (D) 12% wfcay

Interest an calls-in-arrear can be charged maximum at:

(A) 6% p.a (B) 10% p.a

(©) 5% p.a (D) 12%p.a
57.9% ol Susl #§ Aol B SifSrddd v gl &

(A) 7 (B) 200

© 50 (D) ®lg AT LI

Maximum number of members in a private company is:

(A) 7 (B) 200

©) 50 (D) No limit
58.3791 & R R STfem™ &1 IUART fHar S Fad ©:

(A) g )T 39 B A o forg (B) M @ fAdRTT & forg

(©) T b B o1y (D) 379 | i TEI
Premium on issue of shares can be used for:

(A) Issue of bonus shares (B) Distribution of profit
(©) Payment of loan (D) None of these

59.3f¢ X 10 9rerm e o/ iR X 8 Iiferd 2 iR 6 &< &, Sied dh forar S
g, I 3w Iolt @rar &1 Sfae far s =nfzu:
(A) B®W (B) 10 9
(©) 69 (D) 2 9

Page 18 of 36



If a share of X 10 on which X 8 has been called and X 6 is paid, forfeited, then
the share capital account should be debited with:

(A) 38 (B) 10
(C) 36 (D) 32

60. MR HUT A, 2013 B ATAR HUAT BT AN AT IR ST ©
(A) gfad 111 AT 11 (B) SR 111 91T |
(C) ST VI AT ] (D) AT VI AT |

According to the Indian Companies Act, 2013 Balance sheet of a company is

prepared as per:

(A) Part- II of Schedule I11 (B) Part- I of Schedule III

© Part- II of Schedule VI (D) Part- I of Schedule VI
61.9dT @ AR, RAqH SIS 3 & e & Ugel {ifd fen &1 fhamr

vfcrRTd sraey BT ATfRy?

(A) 100 % (B) 90%

© 25% (D) 50%

According to the SEBI, minimum subscription must be at least how much

percent of shares issed before allotment of shares:

(A) 100 % (B) 90%
©)
(D) 25% (E) 50%
62.3791 &1 fH fban S |ahdr &
(A) W W B) e w®
(C) gcc W (D) SRRG T4
Shares may be issued at
(A) Par value (B) Premium
(©) A discount (D) All of the above

63.7%0T U3t & i 9R w1 B1fy &l fewmar Siar ©
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(A) gferifa MAaH Faa9 ¥ o)
(B) fag @ Jufy ger ®
(@ AM—BI @ & wise H

(D) el T |

Discount or loss on issue of debentures is shown as/in:

(A) After deduction from Securities Premium Reserve
(B) Asset side of Balance sheet

(©) Cr.side of P& L A/C

(D) Realisation A/C
64 . FITIALNT UTed BN ©

(A) SISIN (B)
© BN (D)
Debenture holder gets:

(A) Dividend (B)
(C) Interest (D)

65U & feTU 31fed R Zrurgal &1 i &

(A) SIDHERIE (B)
© FEINCACIC (D)
Premium on issue of debenture for a company is a:
(A) Revenue Receipt (B)
(©) Capital Gain (D)
66. 0T &1 fIemar &
(A) PR @ (B)
(O) NIBE] (D)

Characteristic(s) of debenture is/are:

Profit

Bonus

ey

Profit
Asset

EICEIRIR]
EREISISC]
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(A) Fixed interest (B) Long term

(©) Redemption (D) All of these
67700 ST fh 719 gga PR o7 W FWART 8 9K &, bg O o
(A) Goiiehd RIS (B) g OIS

(©) ATED FOTIH (D) g d PIg &

Debentures which are transferred by merely delivery is called:

(A) Registered Debenture (B) First Debenture
(©) Bearer Debenture (D) None of these

68.R5T9 U & gRSI BT I§ AHR Bl © & 9 o8 a1 & FHed a9
@ 918 I FurdEl @1 FeiRa wal & rgaR siwl # uRafda &= waa €,
T FOTOH! BT HEd B
(A) M FEOTIA (B) 3TeNeT 0TI
(C) IR FoIH (D) qIEH FUTIH

The holder of debenture who have the right to convert their debentures into
shares after a specific period as per the terms at their option, such as

debentures are called : -

(A) Redeemable Debentures (B) Irredeemable Debentures
(©) Convertible Debentures (D) Bearer Debentures

69. 7oA @ T BT SR B &
(A) 5 uRaSTRe # fAder (B) NEERCARERAR]
(@ TDHIHRIT (D) ERkRSkI

The objective(s) of issue of debentures is/are:

(A) Investment in a new project (B) Purchase of machinery
(©) Integration (D) All of these

70,50 & FOUAT & € B W BIF T A ©
(A) SIUHRECI| (B) FGRGRSIE)
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©) NEIGRRSIL] (D) TTReS ™

Profit on cancellation of own debenture is:

(A) Revenue profit (B) Capital profit

(©) Operating profit (D) Trading profit
7130 By AT @ §

(A) SR (B) g

(©) ot (D) EURES!

Sinking Fund Investment A/C is an:

(A) Income (B) Expenditure
© Asset (D) Liability

72.U% HUHT TP 2100 d1T 1000, 12% ZRora= d 10% Wiy wR e

far | g9 12% a1 <erar &7
(A) AT BT X (B) R B
(®) ol B R (D) STH |9 PIg T8l

A company issued 1,000 12% debenture of X 100 each at 10% premium.
What does 12% show in it?

(A) Rate of dividend (B) Rate of tax

(©) Rate of interest (D) None of these
73 F0ET @ ARE W AW B BT @ H gaiaRa fear s g ?

(A) CSIRECRCI]) (B) fafd T we @rar

(©) A G ] (D) AM—BI @rdr

Profit on redemption of debenture is transferred to which account?

(A) Capital Reserve A/C (B) Sinking Fund A/C
(©) General Reserve A/C (D) Profit & Loss A/C
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74.BU 9, 2014 & ATAR WEH & YOI FOIAT Bl AT BT fbar afrerd
J FO—YF T I BT AT FHRAT RIT?
(A) 50% (B) 25%
() 70% (D) 100%

According to company Rule, 2014 by which precent a company will have to

create Debenture Redemption Reserve of the amount of the debenture to be

redeemed?

(A 50% B)  25%

©)  70% D)  100%
75.F0T9= B WM 2] T @1 A 7

(A) o (B) o

(@ Y RO UA & A W U IR (D) SR 9 9

Source(s) of finance for the redemption of debentures is/are:

(A) Profit (B) Capital

(©) Amount received from the issue of fresh debenture (D) All of these
76.9TERTAT HUHI BT aied Afcrdat Teb1Ria fhar S @

(A)  fodi o & o fom (B) fia o & aiferw foet

©) AGeT ay & IR B W (D) IWRD 4T

Generally Annual Report of a company is published:

(A) At first day of financial year
(B) On the last day of financial year
(©) On the completion of accounting year
(D) All of the above
77 .31 HaRT H B A TS Erar 87
(A) Uce (B) faframT
©) T (D) ENIE]
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Which item is included in current asset?

(A) Patent (B) Investment

(©) Stock (D) Machinery
78.fa<fr faaRor welRid &vd §

(A) Aifgd g (B) IEICE G CE

(®) SHifed T (D) TR |

Finance statement disclose(s):

(A) Monetary Information (B) Qualitative information
(©) Non-monetary information (D) All of these
79910 e b1 3N gt # fha wue & i [S@rn S 8?
(A) fafder =9 (B) 3rer 4ol
(C) I Td A (D) R—are] Hufxy

Under which heading of Balance sheet General Reserve is shown:

(A) Miscellaneous Expenditure (B) Share Capital

©) Reserve & Surplus (D) Non-current asset
80.98 Fad ST frdl iy Se9a & 99T Sfar € ofR S o & fasg uWR

I B, heldl &

(A) PSIRSED) (B) AT G
(C) T e (D) faftre =g

The reserve which is created for a particular purpose and which is a charge

against revenue is called:

(A) Capital Reserve (B) General Reserve

(©) Secret Reserve (D) Specific Reserve
81.%u S & ofaefa fforRad § 9 & dIR &= oA =78 &7

(A) e R B)  Refy—faRor

(®) fdperapt B Rurd (D) DIy yarg faaror
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Which of the following is not required to be prepared under the Companies

Act?

(A)  Statement of profitand loss  (B) Balance sheet

(C)  Auditor’s Report (D) Fund Flow statement
82.31Yf® forear v &1 fa<iia Rerfa &1 ga= Rgd = &

(A) U U sy w (B) faery srafyy & <RM

©) TP 3Ef @ fore D) 3 dw

Balance sheet provides information about the financial position of the firm:

(A) At a particular period of time (B) During special period

© For a period of time (D) All of these
83.aA-fIewg fdg 99 g @1 ®ed & orEh

(A) Bl AN ot [ F 31w &

(B) ol AN Gt fdeb! A B &

(C) Bl AN Gt fdeo! F M &

(D) Bl AN fel bl & aRIER &

Break-even-point refers to that point where:

(A) Total cost are more than the total sales
(B) Total cost are less than the total sales
(©) Total cost are half of the total sales
(D) Total cost are equal to total sales

84.fRMg fdaroll & fgam # =nfie @
(A) AT & fagetyor (B) T UG TR S1egaT
(@ frepy fdrerar (D) T |
Interpretation of financial statement includes:
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(A) Criticism and analysis (B)  Comparison and trend study

(©) Drawing conclusion (D)  All of these
85.3ma faaror @ gertaT 87
(A) Grd & GIID] DI Y& (B) v fAf¥ad srafer &r
AT d1erar B
(C) NESIEEICAIL] (D) STH | Py el

What is shown by the Income statement?

(A) Accuracy of books of (B) Profit and loss for a
accounts certain period
(©) Balance of cash book (D) None of these
86.fa<irg fqeron & fawetyor # enfiet BT &
(A) HUTRE @ (B) AM—BI faaRor
(C) e fereer (D) SWRIh T4

Analysis of financial statement involves:

(A) Trading A/C (B) Profit and loss statement
(©) Balance Sheet (D) All of the above

87.8f0s fageryor SIHT ST
(A) TTferefier faweryor (B) ARAATHS fageryor
(C) Wiy fagergor (D) T 3 Pl TEl

Horizontal analysis is also known as:

(A) Dynamic Analysis (B) Structural Analysis

(©) Static Analysis (D) None of there
88.7% LN gRT faxiiy f4arvl &1 fawelvor &1 IR &

(A) 1 faweiyor o7 (B) 3TiaRe fagelyor &t

(C) digaq fawetyor & (D) afast faweryor &1
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The analysis of financial statement by a shareholder is an example of :

(A) External Analysis (B) Internal Analysis
(©) Vertical Analysis (D) Horizontal Analysis
89.3¢ T BH B gl WUl 210, 00,000 2 AR IR =] FURTAT
%6, 00,000 B AT A7) WURTT g FURRT &1 = ufcrera grm?
(A) 60% (B) 50%
©) 40% (D) 80%

If total asset of a firm are 310,00,000 and its non-current assets are 2
6,00,000, what will be the percentage of non-current assets to the total
assets?

(A) 60% (B) 50%
©)  40% (D)  80%
90. g A o=l faweryor ufshar fbwr fdaror & #al & 4 garr &l

TN B2

(A) 3 fergt (B) ar—grfy faaror
(©) (A) Torr (B) i (D) STH | By 2

Comparative financial analysis process shows the comparison between the

items of which statement?

(A) Balance sheet (B) Profit and Loss statement
©) Both (A) and (B) (D) None of these
91. wrfefrer goft

(A) e TAT & Y

(B) 7], WUl ©d =re], <1l | sfaR
(C) 9% ¥ ol g YR

(D) oTe], AUl U ey WuRRl ¥ 3iaR
Working capital is the:
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(A)

Cash and bank balance

(B) Difference between current assets and current liabilities

(©) Capital borrowed from bank

(D) Difference between current asset and fixed assets
92.f # & ®F IR FaleE 2 2°

(A) [E2E) (B) a1 =g

(©) AT (D) TR @1 e W g

Which of the following is non-operating expense?

(A) Rent (B) Selling expense

(©) Wages (D) Loss on sale of machinery
93 . ATGRIGT U DI AHRIT: b fhal ST o

(A) ATIRYT ST (B) gferera #

(©) AT o (D) T8 A PIS T8I

Profitability ratios are generally expressed in :

(A) Simple Ratio (B) Percentage

(©) Times (D) None of these
94 F1$ |uferal # enfier g @

(A) e (B) UKIRR

©) AR (D) qded @

The term fixed asset includes:

(A) Cash (B) Machinery

(©) Debtors (D) Prepaid expense
95.F°=1 H I B olFd—ad @] AU H FEIR AT

(A) A BT Adha hd (B) TED I dhe U

(C) SECINCAICURIE (D) A1l B SUR HY
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Which of the following transaction will improve the current ratio?

(A) Purchase of goods for Cash
(B) Cash received from customer
(©) Payment of creditor

(D) Credit purchase of goods

96.3Cld ITac AU & IFcvd 3T &

(A) SESNIRCREIN (B) SICEIRERIRCHEIN

(®) e 3 urd (D) STH 9 PIg T8l

Stock turnover ratio comes under:

(A) Liquidity ratio (B) Profitability ratio
(©) Performance ratio (D) None of these

97 s yaTg fIaRor I 7
(A) SIEEIR] (B) PNENIREY

(®) O M @& ofaefa difsd (D) g A BIg 8
Preparation of Cash Flow Statement is:

(A) Compulsory (B) Recommendatory
(©) Required under the Companies Act (D)  None of these
98 Jhs YaTE fgarvr Hefda ©

(A) 7. TH.—3 (B) T. TH.—6
(©) T. 9.9 (D) T. TH.—12

Cash Flow Statement is related to:

(A)  AS.-3 B)  AS.-6
(C)  AS.-9 (D)  AS.I2

99. HHETRAT Bl Tha YT W Abs JdTE o
(A) e fepamet (B) s fpaman
(@ IEIRRERICI (D) SR qHI
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Cash payment to employees is a cash flow from:

(A) Operating Activities (B) Investing Activities

(©) Financing Activities (D) All of the above
100. wiic vd AR & T & Ufdher H 3fe &1 e ©

(A) Jde & Adaig (B) AP BT gigdls

(C) 9 dr (A) 3R 7 (B) (D) SENLRCE]

Issue of shares in consideration of purchase of plant and machinery result

into

(A) Inflow of Cash (B) Out flow of Cash

(©) Neither (A) or nor (B) (D) All of the above

¥uvs—d / SECTION-B
g S 929/ Short Answer Type Questions

TS HE&IT 1 9 30 % g S g | § | fhgl 15 Wl & SR

3| IS ued & forg 2 i FEiRa 2| 15 x 2 = 30

Question Nos. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2 =30

1. g @1 2 ? 2
What is legacy?

2. ACTMBHRI AR & TR IERI § | 2
Give four example of not-for-profit organisation.

3. ¥q1g Yol iR gRac-ele Yol H 3R & | 2

Distinguish between fixed capital and fluctuating capital.
4, G B AR @Il & Bisc U&T # ford oH arel fgi i Agi

BT ford | 2
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Write any three items written in credit side of profit and loss

appropriation account.

5. feremT T 7§ ? 2
What is super profit?
6. WA BH B Yo | a7 3 &7 2

What is meant by reconstitution of partnership firm?

7. TART H el ARIGR I FIT 3T 87 2

What is meant by sacrificing partner ?
8. e BN | 3Ty &r FHed 57 2

What do you understand by accumulated loss?

9. HAHNT g RIT & ? 2

What is general reserve?

10. -3 IFUIT BT ITOET T DI ATl 2 2 2
Why gaining ratio is calculated?
11.9490d qe0 @ © 2 2

What is surrender value?

12.936R & 9g & §9Y [qeme @fd & fau @ar Jo+mear ufafe
&I ST ? 2

What journal entry will be recorded for the available goodwill on the

death of a partner?
13. 9181 & FHYS 3R BH & 9999 # 3} 9ar | 2

Distinguish between dissolution of partnership and dissolution of firm.

14,99 @11 999 & QT Seed 9 | 2

State two objectives of the preparation of Realisation Account.

15. ot & A= R ar | 2
State the different types of shares.
163791 &1 g7 et ar 22 2

What is re-issue of shares?
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17. %91 @1 Bls IR faRydr aari |

State any four characteristics of a company.
18,371 FEOUH a1 27

What is irredeemable debenture?
19,9786 TS w7 &7

What is bearer debenture?

20,9931 BT URIAT gRT e BT FIT 3N 82

What is meant by Redemption of debenture by conversion?

21.f<Mg foaxol & IR a9 & 9 9d™ |
Name four element of financial statement.

22. 9 BT+ faa=or war 27

What is the statement of profit and loss?

23,90 fexgrae &9 fa<ig faavon & faveyor & veh JHr 87

2

How is window dressing a limitation of financial statement analysis?

24 TSR ITad 3rgUTd a1 &7
What is debtor turnover ratio?
25.9f 37eT 3 T &7
What is earning per share?
26391 3T FT BT B°
What is proprietary ratio?
27.3TH Wl & IR IMER < |

Give four example of Revenue Receipt.
28781 AT BT 9T 372 77
What is the meaning of rat goodwill?

29 . YT AT | T FASK &7
What do you understand by proposed dividend?

30.XThs Udig dhd ST~ BIdl 4

When does a cash flow arise?

2
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<" S ue / Long Answer Type Questions

FoT T 31 & 38 JE ST FI7 &/ §7H W e 4 ¥ & GOV 7/
g% J97 & o7 5 3 [FgiRa &/ 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

311 T 87 A1 Bl o B [ fafert @1 auie Y | 5
What is goodwill? Explain the different methods of calculating goodwill.

32.%4 & fdoucd | 91 ¥ 87 BH & [duc & A9 DI ST drell
nfafteat fear | 5
What do you mean by Dissolution of firm? Show the journal entries made

at the time of dissolution of a firm.

3330103 BT T AR 27 RIS bl & a9 | 5

What is the meaning of debenture? State main features of debenture.
34.f4<g fqaRor | a7 MY ©7 gD AT BT quid D | 5

What is meant by financial statement? Explain its limitations.

35.70 IRl 9 T W S Sa difog SR gt (Rerfar faa=on)

FagR 4l faEmgy | 5
X

(i) ¥ & IRE U T 20,000

(il) URM® ghraT =gl 4,000

(iii) 3ifcd geprT <dT 8,000

(iv) uRM® H ured =iaT 6,000

(v) sifad afis g =< 4,000

Find out income from subscription and also show the treatment in

Balance sheet:
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(1)  Subscription received during the year: 20,000
(i1))  Subscription outstanding (Opening) 4,000
(111)  Subscription outstanding (Closing) 8,000
(iv)  Subscription received in Advance (Opening) 6,000
(v)  Subscription received in Advance (Closing) 4,000
36. Z fafics <1 e gRT eiRa %10 aret goia: arfra 400 sfer &1, [

%2 ufa ofer aifdren w fffaa far ar e, &vor foram | gem<t 1 X3
e WR Y | 98 Aded WR 5 ( ifergea |fzd), 2.5 vord arae R
3R 1.5 S e oR YIrar el BR HhT | 5 A Bl A Db bl
9 wfcr ofer # g fifag fosam | ofell & &1 wd g fm & forg
RIS wfaftedt <) 5
Z Ltd. Forfeited 400 shares of Z 10 each fully called up, held by Prashant,

issued at a premium of X 2 per share. Prashant Paid X 3 on application. He
could not pay X 5 (including premium) on allotment, X 2.5 on first call
and X 1.5 final call. These shares were re-issued to Shri Mukesh for X 9

per shares. Given the journal entries for forfeiture and re-issue of shares.

37.fFr=ferRad aemell | @I U &1 ITOET B | 5
X
(i) el For 2,00,000
(il)  <TeBTel IS 1,00,000
(i) re] @R 50,000
(iv) sraer oR™uRR 3,60,00
(v) e TRt 90,000

From the following informations compute Proprietary Ratio:
X
(1) Long-term borrowing 2,00,000
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(i1) Long-term provision 1,00,000

(ii1))  Current Liabilities 50,000
(iv)  Non-current Assets 3,60,000
(v) Current Assets 90,000
38.Reafd fqervr =y FrferiRad Sexon 4 =T fhamell 3 jdbs yars = &3 5
Rerfe—faavor
(31-12-2022 T BT IEXOT)
SENIIRCICERIY RHH A SEIRDI IPHH IHH
(2021) (2022) (2021) (2022)
R R R ]
AT 3R oh 2,00,000 3,00,000 T TR 8,000 15,000
gcer

8% TR S | 1 00,000 50,000

6%0 FTa 80,000 1,50,000

R I 3,000
10,000 e ’

arferge

(M) 5

(i)  Har e B 2022 @ 39 4 10 % fEred (hfHgH) wR i fear man
(i) oA B 9¥ & gR9 H 10 % FHeri W FAEfa far |
(ili) YaEeR 3 R 8 % &1 <X | A &A1 T |

(iv) oAl R @ fear w2

From the following extract of Balance sheet, Find out cash flow from

financing activities
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(Extract as on 31-12-2022)

Balance Sheet

Equity & Amount Amount Assets Amount Amount

Liabilities | (2021) | (2022) (2021) (2022)

% % % %

Equity Share |2,00,000 | 3,00,000 Discount on 8,000 15,000
Capital Debentures
8% Preference

Share 1,00,000 | 50,000 Underwriting

commission |

6% Debenture | 80,000 | 1,50,000 on shares 000
Securities 10,000

Premium -

Additional information:

(i) Equity shares were issued at the end of 2022 at 10% premium.

(ii)

the year.

(iii) Preference shares were paid dividend @ 8%.

(iv)

Interest on debentures is paid.

Debentures were issued at 10% discount in the beginning of
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